



ARIZONA DEPARTMENT OF TRANSPORTATION
 PROJECT DELIVERY AND OPERATIONS DIVISION
 CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024054

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
064 CN 185 F057801C	064-A-(208)T	103128	COCONINO	NORTHCENT	19.2		Vian Rashid

Highway Termini	Location	Work Description
• WILLIAMS - GRAND CANYON - CAMERON HIGHWAY (SR 64)	• I-40 - Pipeline Rd	• Pavement Rehabilitation & Turn Lanes

BID RESULTS FOR 2024054

Bid Opening Date : 1/30/2026, Prequalification Required, Engineer Specialist : Vian Rashid

Completion Date:

270 Working Days

The proposed project is located in Coconino County on State Route (SR 64) between MP 185.79 and MP 205 from I-40 to Pipeline Road within the Kaibab National Forest. The work consists of Pavement rehabilitation of the existing roadway and constructs turning lanes at various locations within the project limits. The works includes milling the existing travel lanes and shoulders and replacing it with Stone Matrix Asphalt Concrete, paving the existing unpaved turnouts and rehabilitate the existing turnouts, roadway widening for new turn lanes, remove and replace existing guardrail, shoulder buildup. The work also includes replacing the existing bridge barrier, box culvert extension, installing a new precast reinforced concrete box culvert, and sealing the bridge deck with methacrylate, pavement marking and other related works.

Bid Rank	Compared To Department Estimat	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$26,187,445.90	DEPARTMENT ESTIMATE	\$26,187,445.90
1	-26.0%		\$19,382,000.00	FANN CONTRACTING, INC PO BOX 4356 PRESCOTT, AZ 86302-	\$19,382,000.00
2	-12.7%		\$22,870,010.90	FNF CONSTRUCTION, INC. 115 S. 48TH STREET TEMPE, AZ 85281-8504	\$22,870,010.90

Winning Bidder is 26.0% Under Department Estimate (Difference = (\$6,805,445.90))

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2010030	EACH	REMOVAL OF WOODY VEGETATION				
Bid Rank		Department Estimate	20.000	\$1,500.000	\$30,000.00	
1		FANN CONTRACTING, INC		\$1,500.000	\$30,000.00	+0.0%
2		FNF CONSTRUCTION, INC.		\$2,250.000	\$45,000.00	+50.0%
2020019	L.FT.	REMOVAL OF EMBANKMENT CURB				
Bid Rank		Department Estimate	976.000	\$20.000	\$19,520.00	
1		FANN CONTRACTING, INC		\$3.250	\$3,172.00	-83.8%
2		FNF CONSTRUCTION, INC.		\$10.000	\$9,760.00	-50.0%
2020041	L.FT.	REMOVAL OF PIPE				
Bid Rank		Department Estimate	99.000	\$100.000	\$9,900.00	
1		FANN CONTRACTING, INC		\$125.000	\$12,375.00	+25.0%
2		FNF CONSTRUCTION, INC.		\$150.000	\$14,850.00	+50.0%
2020048	EACH	REMOVAL OF STRUCTURE (HEADWALL)				
Bid Rank		Department Estimate	9.000	\$1,500.000	\$13,500.00	
1		FANN CONTRACTING, INC		\$1,500.000	\$13,500.00	+0.0%
2		FNF CONSTRUCTION, INC.		\$5,000.000	\$45,000.00	+233.3%
2020053	EACH	REMOVE (CATTLE GUARD)				
Bid Rank		Department Estimate	2.000	\$6,300.000	\$12,600.00	
1		FANN CONTRACTING, INC		\$5,500.000	\$11,000.00	-12.7%
2		FNF CONSTRUCTION, INC.		\$10,000.000	\$20,000.00	+58.7%
2020054	EACH	REMOVE (GUARDRAIL END TERMINAL)				
Bid Rank		Department Estimate	4.000	\$1,500.000	\$6,000.00	
1		FANN CONTRACTING, INC		\$885.000	\$3,540.00	-41.0%
2		FNF CONSTRUCTION, INC.		\$1,500.000	\$6,000.00	+0.0%
2020071	L.FT.	REMOVE GUARD RAIL				
Bid Rank		Department Estimate	846.000	\$12.000	\$10,152.00	
1		FANN CONTRACTING, INC		\$11.750	\$9,940.50	-2.1%
2		FNF CONSTRUCTION, INC.		\$6.000	\$5,076.00	-50.0%
2020081	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (1")				
Bid Rank		Department Estimate	399,275.000	\$1.750	\$698,731.25	
1		FANN CONTRACTING, INC		\$1.500	\$598,912.50	-14.3%
2		FNF CONSTRUCTION, INC.		\$1.800	\$718,695.00	+2.9%
2020101	L.FT.	REMOVE FENCE				
Bid Rank		Department Estimate	969.000	\$10.000	\$9,690.00	
1		FANN CONTRACTING, INC		\$6.000	\$5,814.00	-40.0%
2		FNF CONSTRUCTION, INC.		\$10.000	\$9,690.00	+0.0%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020115	EACH	REMOVE (SPILLWAY INLET)				
Bid Rank		Department Estimate	4.000	\$1,000.000	\$4,000.00	
1		FANN CONTRACTING, INC		\$2,000.000	\$8,000.00	+100.0%
2		FNF CONSTRUCTION, INC.		\$2,250.000	\$9,000.00	+125.0%
2020162	SQ.YD.	REMOVE (TEMPORARY WIDENING)				
Bid Rank		Department Estimate	1,842.000	\$50.000	\$92,100.00	
1		FANN CONTRACTING, INC		\$8.500	\$15,657.00	-83.0%
2		FNF CONSTRUCTION, INC.		\$20.000	\$36,840.00	-60.0%
2030112	L.FT.	SHOULDER BUILD-UP (MILLED AC)				
Bid Rank		Department Estimate	180,278.000	\$0.750	\$135,208.50	
1		FANN CONTRACTING, INC		\$0.600	\$108,166.80	-20.0%
2		FNF CONSTRUCTION, INC.		\$0.400	\$72,111.20	-46.7%
2030113	HOUR	SHOULDER BUILD-UP (COMPACTION)				
Bid Rank		Department Estimate	205.000	\$225.000	\$46,125.00	
1		FANN CONTRACTING, INC		\$112.000	\$22,960.00	-50.2%
2		FNF CONSTRUCTION, INC.		\$115.000	\$23,575.00	-48.9%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank		Department Estimate	14,290.000	\$30.000	\$428,700.00	
1		FANN CONTRACTING, INC		\$26.000	\$371,540.00	-13.3%
2		FNF CONSTRUCTION, INC.		\$32.000	\$457,280.00	+6.7%
2030302	CU.YD.	ROADWAY EXCAVATION (OVER-EXCAVATION)				
Bid Rank		Department Estimate	7,194.000	\$35.000	\$251,790.00	
1		FANN CONTRACTING, INC		\$25.000	\$179,850.00	-28.6%
2		FNF CONSTRUCTION, INC.		\$65.000	\$467,610.00	+85.7%
2030401	CU.YD.	DRAINAGE EXCAVATION				
Bid Rank		Department Estimate	57.000	\$350.000	\$19,950.00	
1		FANN CONTRACTING, INC		\$75.000	\$4,275.00	-78.6%
2		FNF CONSTRUCTION, INC.		\$275.000	\$15,675.00	-21.4%
2030904	CU.YD.	BORROW (IN PLACE)				
Bid Rank		Department Estimate	1,176.000	\$75.000	\$88,200.00	
1		FANN CONTRACTING, INC		\$85.000	\$99,960.00	+13.3%
2		FNF CONSTRUCTION, INC.		\$55.000	\$64,680.00	-26.7%
2050003	SQ.YD.	GRADING ROADWAY FOR PAVEMENT (7")				
Bid Rank		Department Estimate	6,696.000	\$30.000	\$200,880.00	
1		FANN CONTRACTING, INC		\$17.500	\$117,180.00	-41.7%
2		FNF CONSTRUCTION, INC.		\$25.000	\$167,400.00	-16.7%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank		Department Estimate	9,527.000	\$105.000	\$1,000,335.00	
1		FANN CONTRACTING, INC		\$65.000	\$619,255.00	-38.1%
2		FNF CONSTRUCTION, INC.		\$55.000	\$523,985.00	-47.6%
4040111	TON	BITUMINOUS TACK COAT				
Bid Rank		Department Estimate	203.000	\$650.000	\$131,950.00	
1		FANN CONTRACTING, INC		\$650.000	\$131,950.00	+0.0%
2		FNF CONSTRUCTION, INC.		\$515.000	\$104,545.00	-20.8%
4040116	HR	APPLY BITUMINOUS TACK COAT				
Bid Rank		Department Estimate	328.000	\$225.000	\$73,800.00	
1		FANN CONTRACTING, INC		\$225.000	\$73,800.00	+0.0%
2		FNF CONSTRUCTION, INC.		\$225.000	\$73,800.00	+0.0%
4040125	TON	FOG COAT				
Bid Rank		Department Estimate	7.000	\$1,300.000	\$9,100.00	
1		FANN CONTRACTING, INC		\$800.000	\$5,600.00	-38.5%
2		FNF CONSTRUCTION, INC.		\$795.000	\$5,565.00	-38.8%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank		Department Estimate	20,733.000	\$1.000	\$20,733.00	
1		FANN CONTRACTING, INC		\$0.200	\$4,146.60	-80.0%
2		FNF CONSTRUCTION, INC.		\$0.050	\$1,036.65	-95.0%
4040234	TON	ASPHALT BINDER (PG 70-28 PM)				
Bid Rank		Department Estimate	3,917.000	\$800.000	\$3,133,600.00	
1		FANN CONTRACTING, INC		\$680.000	\$2,663,560.00	-15.0%
2		FNF CONSTRUCTION, INC.		\$790.000	\$3,094,430.00	-1.3%
4090004	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL) (WITH PG 64-28)				
Bid Rank		Department Estimate	7,277.000	\$180.000	\$1,309,860.00	
1		FANN CONTRACTING, INC		\$128.000	\$931,456.00	-28.9%
2		FNF CONSTRUCTION, INC.		\$245.000	\$1,782,865.00	+36.1%
5010007	L.FT.	PIPE, CORRUGATED METAL, 18"				
Bid Rank		Department Estimate	114.000	\$300.000	\$34,200.00	
1		FANN CONTRACTING, INC		\$133.000	\$15,162.00	-55.7%
2		FNF CONSTRUCTION, INC.		\$180.000	\$20,520.00	-40.0%
5010011	L.FT.	PIPE, CORRUGATED METAL, 24"				
Bid Rank		Department Estimate	283.000	\$350.000	\$99,050.00	
1		FANN CONTRACTING, INC		\$205.000	\$58,015.00	-41.4%
2		FNF CONSTRUCTION, INC.		\$225.000	\$63,675.00	-35.7%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
5010025	L.FT.	PIPE, CORRUGATED METAL, 36"				
Bid Rank		Department Estimate	24.000	\$750.000	\$18,000.00	
1		FANN CONTRACTING, INC		\$356.000	\$8,544.00	-52.5%
2		FNF CONSTRUCTION, INC.		\$350.000	\$8,400.00	-53.3%
5014518	EACH	FLARED END SECTION, 18" (C-13.20 OR C-13.25)				
Bid Rank		Department Estimate	2.000	\$1,000.000	\$2,000.00	
1		FANN CONTRACTING, INC		\$875.000	\$1,750.00	-12.5%
2		FNF CONSTRUCTION, INC.		\$2,500.000	\$5,000.00	+150.0%
5014524	EACH	FLARED END SECTION, 24" (C-13.20 OR C-13.25)				
Bid Rank		Department Estimate	12.000	\$1,000.000	\$12,000.00	
1		FANN CONTRACTING, INC		\$950.000	\$11,400.00	-5.0%
2		FNF CONSTRUCTION, INC.		\$2,000.000	\$24,000.00	+100.0%
5014536	EACH	FLARED END SECTION, 36" (C-13.20 OR C-13.25)				
Bid Rank		Department Estimate	2.000	\$3,000.000	\$6,000.00	
1		FANN CONTRACTING, INC		\$1,475.000	\$2,950.00	-50.8%
2		FNF CONSTRUCTION, INC.		\$3,500.000	\$7,000.00	+16.7%
6016088	EACH	HEADWALL (18" CMP)				
Bid Rank		Department Estimate	2.000	\$8,000.000	\$16,000.00	
1		FANN CONTRACTING, INC		\$7,500.000	\$15,000.00	-6.3%
2		FNF CONSTRUCTION, INC.		\$17,500.000	\$35,000.00	+118.8%
6016089	EACH	HEADWALL (24" CMP)				
Bid Rank		Department Estimate	7.000	\$10,000.000	\$70,000.00	
1		FANN CONTRACTING, INC		\$9,300.000	\$65,100.00	-7.0%
2		FNF CONSTRUCTION, INC.		\$15,000.000	\$105,000.00	+50.0%
7015010	L.FT.	TEMPORARY CONCRETE BARRIER (INSTALLATION AND REMOVAL)				
Bid Rank		Department Estimate	20,318.000	\$25.000	\$507,950.00	
1		FANN CONTRACTING, INC		\$31.000	\$629,858.00	+24.0%
2		FNF CONSTRUCTION, INC.		\$17.000	\$345,406.00	-32.0%
7015020	EACH	TEMPORARY IMPACT ATTENUATORS (INSTALLATION AND REMOVAL)				
Bid Rank		Department Estimate	22.000	\$2,200.000	\$48,400.00	
1		FANN CONTRACTING, INC		\$2,800.000	\$61,600.00	+27.3%
2		FNF CONSTRUCTION, INC.		\$1,550.000	\$34,100.00	-29.5%
7015052	L.FT.	OBLITERATE PAVEMENT MARKING (STRIPE)				
Bid Rank		Department Estimate	16,979.000	\$1.750	\$29,713.25	
1		FANN CONTRACTING, INC		\$0.800	\$13,583.20	-54.3%
2		FNF CONSTRUCTION, INC.		\$0.550	\$9,338.45	-68.6%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016020	L.FT.-DAY	TEMPORARY CONCRETE BARRIER (IN USE)				
Bid Rank		Department Estimate	187,831.000	\$0.150	\$28,174.65	
1		FANN CONTRACTING, INC		\$0.200	\$37,566.20	+33.3%
2		FNF CONSTRUCTION, INC.		\$0.250	\$46,957.75	+66.7%
7016021	EACH-DAY	TEMPORARY IMPACT ATTENUATORS (IN USE)				
Bid Rank		Department Estimate	268.000	\$45.000	\$12,060.00	
1		FANN CONTRACTING, INC		\$58.000	\$15,544.00	+28.9%
2		FNF CONSTRUCTION, INC.		\$70.000	\$18,760.00	+55.6%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank		Department Estimate	74,626.000	\$0.300	\$22,387.80	
1		FANN CONTRACTING, INC		\$0.300	\$22,387.80	+0.0%
2		FNF CONSTRUCTION, INC.		\$0.300	\$22,387.80	+0.0%
7016032	EACH-DAY	PORTABLE SIGN STAND (RIGID)				
Bid Rank		Department Estimate	2,500.000	\$0.800	\$2,000.00	
1		FANN CONTRACTING, INC		\$0.450	\$1,125.00	-43.8%
2		FNF CONSTRUCTION, INC.		\$0.550	\$1,375.00	-31.3%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank		Department Estimate	4,360.000	\$1.750	\$7,630.00	
1		FANN CONTRACTING, INC		\$1.100	\$4,796.00	-37.1%
2		FNF CONSTRUCTION, INC.		\$1.400	\$6,104.00	-20.0%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank		Department Estimate	7,270.000	\$0.700	\$5,089.00	
1		FANN CONTRACTING, INC		\$0.250	\$1,817.50	-64.3%
2		FNF CONSTRUCTION, INC.		\$0.300	\$2,181.00	-57.1%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank		Department Estimate	74,626.000	\$0.500	\$37,313.00	
1		FANN CONTRACTING, INC		\$0.150	\$11,193.90	-70.0%
2		FNF CONSTRUCTION, INC.		\$0.150	\$11,193.90	-70.0%
7016038	EACH-DAY	TRAFFIC CONE				
Bid Rank		Department Estimate	12,500.000	\$0.800	\$10,000.00	
1		FANN CONTRACTING, INC		\$0.250	\$3,125.00	-68.8%
2		FNF CONSTRUCTION, INC.		\$0.300	\$3,750.00	-62.5%
7016039	EACH-DAY	EMBEDDED SIGN POST				
Bid Rank		Department Estimate	7,760.000	\$0.500	\$3,880.00	
1		FANN CONTRACTING, INC		\$1.350	\$10,476.00	+170.0%
2		FNF CONSTRUCTION, INC.		\$0.800	\$6,208.00	+60.0%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank		Department Estimate	50.000	\$800.000	\$40,000.00	
1		FANN CONTRACTING, INC		\$850.000	\$42,500.00	+6.3%
2		FNF CONSTRUCTION, INC.		\$1,250.000	\$62,500.00	+56.3%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank		Department Estimate	2,500.000	\$1.500	\$3,750.00	
1		FANN CONTRACTING, INC		\$0.250	\$625.00	-83.3%
2		FNF CONSTRUCTION, INC.		\$0.300	\$750.00	-80.0%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank		Department Estimate	8,240.000	\$1.200	\$9,888.00	
1		FANN CONTRACTING, INC		\$0.250	\$2,060.00	-79.2%
2		FNF CONSTRUCTION, INC.		\$0.300	\$2,472.00	-75.0%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank		Department Estimate	1,526.000	\$60.000	\$91,560.00	
1		FANN CONTRACTING, INC		\$23.500	\$35,861.00	-60.8%
2		FNF CONSTRUCTION, INC.		\$22.000	\$33,572.00	-63.3%
7016071	HOUR	PILOT VEHICLE WITH DRIVER				
Bid Rank		Department Estimate	2,000.000	\$75.000	\$150,000.00	
1		FANN CONTRACTING, INC		\$69.000	\$138,000.00	-8.0%
2		FNF CONSTRUCTION, INC.		\$69.000	\$138,000.00	-8.0%
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank		Department Estimate	7,900.000	\$45.000	\$355,500.00	
1		FANN CONTRACTING, INC		\$50.000	\$395,000.00	+11.1%
2		FNF CONSTRUCTION, INC.		\$54.000	\$426,600.00	+20.0%
7016082	HOUR	FLAGGING SERVICES (LOCAL ENFORCEMENT OFFICER)(WITH AGENCY VEHICLE)				
Bid Rank		Department Estimate	5,970.000	\$110.000	\$656,700.00	
1		FANN CONTRACTING, INC		\$100.000	\$597,000.00	-9.1%
2		FNF CONSTRUCTION, INC.		\$105.000	\$626,850.00	-4.5%
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank		Department Estimate	384,288.000	\$0.600	\$230,572.80	
1		FANN CONTRACTING, INC		\$0.450	\$172,929.60	-25.0%
2		FNF CONSTRUCTION, INC.		\$0.450	\$172,929.60	-25.0%
7040006	L.FT.	PAVEMENT MARKING (YELLOW EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank		Department Estimate	252,265.000	\$0.600	\$151,359.00	
1		FANN CONTRACTING, INC		\$0.450	\$113,519.25	-25.0%
2		FNF CONSTRUCTION, INC.		\$0.450	\$113,519.25	-25.0%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7050063	EACH	PAVEMENT MARKING, PREFORMED, SINGLE ARROW, TYPE IV				
Bid Rank		Department Estimate	104.000	\$350.000	\$36,400.00	
1		FANN CONTRACTING, INC		\$200.000	\$20,800.00	-42.9%
2		FNF CONSTRUCTION, INC.		\$180.000	\$18,720.00	-48.6%
7050066	EACH	PAVEMENT MARKING, PREFORMED, LEGEND (ONLY), TYPE IV				
Bid Rank		Department Estimate	48.000	\$350.000	\$16,800.00	
1		FANN CONTRACTING, INC		\$250.000	\$12,000.00	-28.6%
2		FNF CONSTRUCTION, INC.		\$230.000	\$11,040.00	-34.3%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank		Department Estimate	517,508.000	\$0.150	\$77,626.20	
1		FANN CONTRACTING, INC		\$0.120	\$62,100.96	-20.0%
2		FNF CONSTRUCTION, INC.		\$0.150	\$77,626.20	+0.0%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank		Department Estimate	339,717.000	\$0.150	\$50,957.55	
1		FANN CONTRACTING, INC		\$0.120	\$40,766.04	-20.0%
2		FNF CONSTRUCTION, INC.		\$0.150	\$50,957.55	0.0%
7080206	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED SYMBOL) (ARROW)				
Bid Rank		Department Estimate	104.000	\$110.000	\$11,440.00	
1		FANN CONTRACTING, INC		\$60.000	\$6,240.00	-45.5%
2		FNF CONSTRUCTION, INC.		\$55.000	\$5,720.00	-50.0%
7080208	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED LEGEND) (ONLY)				
Bid Rank		Department Estimate	48.000	\$110.000	\$5,280.00	
1		FANN CONTRACTING, INC		\$60.000	\$2,880.00	-45.5%
2		FNF CONSTRUCTION, INC.		\$55.000	\$2,640.00	-50.0%
7350006	EACH	LOOP DETECTOR (COUNTER) (FULL REPLACEMENT)				
Bid Rank		Department Estimate	1.000	\$25,000.000	\$25,000.00	
1		FANN CONTRACTING, INC		\$40,000.000	\$40,000.00	+60.0%
2		FNF CONSTRUCTION, INC.		\$7,000.000	\$7,000.00	-72.0%
7350022	EACH	LOOP DETECTOR (SPEED/CLASSIFICATION) (FULL REPLACEMENT)				
Bid Rank		Department Estimate	1.000	\$60,000.000	\$60,000.00	
1		FANN CONTRACTING, INC		\$7,700.000	\$7,700.00	-87.2%
2		FNF CONSTRUCTION, INC.		\$38,000.000	\$38,000.00	-36.7%
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank		Department Estimate	27.000	\$7,000.000	\$189,000.00	
1		FANN CONTRACTING, INC		\$8,200.000	\$221,400.00	+17.1%
2		FNF CONSTRUCTION, INC.		\$6,500.000	\$175,500.00	-7.1%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8101005	CU.YD.	EROSION CONTROL (CHECK DAM) (GRADATION C ROCK MULCH)				
Bid Rank		Department Estimate	390.000	\$120.000	\$46,800.00	
1		FANN CONTRACTING, INC		\$205.000	\$79,950.00	+70.8%
2		FNF CONSTRUCTION, INC.		\$190.000	\$74,100.00	+58.3%
8101014	L.FT.	EROSION CONTROL (SEDIMENT WATTLES) (20")				
Bid Rank		Department Estimate	8,400.000	\$13.000	\$109,200.00	
1		FANN CONTRACTING, INC		\$5.750	\$48,300.00	-55.8%
2		FNF CONSTRUCTION, INC.		\$7.000	\$58,800.00	-46.2%
8101021	L.FT.	EROSION CONTROL (WATTLES) (9")				
Bid Rank		Department Estimate	5,140.000	\$5.500	\$28,270.00	
1		FANN CONTRACTING, INC		\$4.250	\$21,845.00	-22.7%
2		FNF CONSTRUCTION, INC.		\$5.000	\$25,700.00	-9.1%
8101029	CU.YD.	EROSION CONTROL (ROCK MULCH) (GRADATION C)				
Bid Rank		Department Estimate	85.000	\$300.000	\$25,500.00	
1		FANN CONTRACTING, INC		\$250.000	\$21,250.00	-16.7%
2		FNF CONSTRUCTION, INC.		\$250.000	\$21,250.00	-16.7%
9010001	L.SUM	MOBILIZATION				
Bid Rank		Department Estimate	1.000	\$2,582,000.000	\$2,582,000.00	
1		FANN CONTRACTING, INC		\$1,899,117.690	\$1,899,117.69	-26.4%
2		FNF CONSTRUCTION, INC.		\$2,287,050.000	\$2,287,050.00	-11.4%
9030011	L.FT.	BARBED WIRE FENCE, TYPE 1				
Bid Rank		Department Estimate	689.000	\$30.000	\$20,670.00	
1		FANN CONTRACTING, INC		\$23.500	\$16,191.50	-21.7%
2		FNF CONSTRUCTION, INC.		\$30.000	\$20,670.00	+0.0%
9050005	L.FT.	GUARD RAIL, W-BEAM, SINGLE FACE (MASH)				
Bid Rank		Department Estimate	1,000.000	\$80.000	\$80,000.00	
1		FANN CONTRACTING, INC		\$70.500	\$70,500.00	-11.9%
2		FNF CONSTRUCTION, INC.		\$60.000	\$60,000.00	-25.0%
9050025	EACH	GUARD RAIL TERMINAL (MASH)				
Bid Rank		Department Estimate	4.000	\$6,500.000	\$26,000.00	
1		FANN CONTRACTING, INC		\$7,000.000	\$28,000.00	+7.7%
2		FNF CONSTRUCTION, INC.		\$7,000.000	\$28,000.00	+7.7%
9050419	EACH	GUARD RAIL TRANSITION (STD C-10.30)				
Bid Rank		Department Estimate	4.000	\$6,000.000	\$24,000.00	
1		FANN CONTRACTING, INC		\$7,000.000	\$28,000.00	+16.7%
2		FNF CONSTRUCTION, INC.		\$6,750.000	\$27,000.00	+12.5%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9060051	EACH	CATTLE GUARD (5 UNIT)				
Bid Rank		Department Estimate	1.000	\$80,000.000	\$80,000.00	
1		FANN CONTRACTING, INC		\$43,750.000	\$43,750.00	-45.3%
2		FNF CONSTRUCTION, INC.		\$55,000.000	\$55,000.00	-31.3%
9060061	EACH	CATTLE GUARD (6 UNIT)				
Bid Rank		Department Estimate	1.000	\$92,180.000	\$92,180.00	
1		FANN CONTRACTING, INC		\$53,000.000	\$53,000.00	-42.5%
2		FNF CONSTRUCTION, INC.		\$65,000.000	\$65,000.00	-29.5%
9130007	CU.YD.	RIPRAP (DUMPED) (6")				
Bid Rank		Department Estimate	58.000	\$300.000	\$17,400.00	
1		FANN CONTRACTING, INC		\$165.000	\$9,570.00	-45.0%
2		FNF CONSTRUCTION, INC.		\$750.000	\$43,500.00	+150.0%
9130008	CU.YD.	RIPRAP (DUMPED) (12")				
Bid Rank		Department Estimate	369.000	\$300.000	\$110,700.00	
1		FANN CONTRACTING, INC		\$95.000	\$35,055.00	-68.3%
2		FNF CONSTRUCTION, INC.		\$350.000	\$129,150.00	+16.7%
9160001	L.FT.	EMBANKMENT CURB				
Bid Rank		Department Estimate	976.000	\$35.000	\$34,160.00	
1		FANN CONTRACTING, INC		\$19.250	\$18,788.00	-45.0%
2		FNF CONSTRUCTION, INC.		\$25.000	\$24,400.00	-28.6%
9170021	EACH	INLET (C-4.10) (SINGLE)				
Bid Rank		Department Estimate	4.000	\$4,500.000	\$18,000.00	
1		FANN CONTRACTING, INC		\$6,450.000	\$25,800.00	+43.3%
2		FNF CONSTRUCTION, INC.		\$8,500.000	\$34,000.00	+88.9%
9230003	HOUR	ON-THE-JOB TRAINING WITH GOALS				
Bid Rank		Department Estimate	1,200.000	\$3.000	\$3,600.00	
1		FANN CONTRACTING, INC		\$3.000	\$3,600.00	+0.0%
2		FNF CONSTRUCTION, INC.		\$3.000	\$3,600.00	+0.0%
9240012	L.SUM	FORCE ACCOUNT WORK (BIOLOGIST AND WILDLIFE REHABILITATOR)				
Bid Rank		Department Estimate	1.000	\$18,000.000	\$18,000.00	
1		FANN CONTRACTING, INC		\$18,000.000	\$18,000.00	+0.0%
2		FNF CONSTRUCTION, INC.		\$18,000.000	\$18,000.00	+0.0%
9240140	TON	MISCELLANEOUS WORK (STONE MATRIX ASPHALTIC CONCRETE)				
Bid Rank		Department Estimate	65,273.000	\$120.000	\$7,832,760.00	
1		FANN CONTRACTING, INC		\$79.750	\$5,205,521.75	-33.5%
2		FNF CONSTRUCTION, INC.		\$91.000	\$5,939,843.00	-24.2%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240141	TON	MISCELLANEOUS WORK (STABILIZING ADDITIVE)				
Bid Rank		Department Estimate	262.000	\$1,400.000	\$366,800.00	
1		FANN CONTRACTING, INC		\$1,000.000	\$262,000.00	-28.6%
2		FNF CONSTRUCTION, INC.		\$1,030.000	\$269,860.00	-26.4%
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank		Department Estimate	1.000	\$270,000.000	\$270,000.00	
1		FANN CONTRACTING, INC		\$178,000.000	\$178,000.00	-34.1%
2		FNF CONSTRUCTION, INC.		\$628,000.000	\$628,000.00	+132.6%
9240181	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(MANUAL / MECHANICAL METHODS)				
Bid Rank		Department Estimate	61,000.000	\$1.250	\$76,250.00	
1		FANN CONTRACTING, INC		\$0.700	\$42,700.00	-44.0%
2		FNF CONSTRUCTION, INC.		\$1.000	\$61,000.00	-20.0%
9240182	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(HERBICIDE				
Bid Rank		Department Estimate	75,000.000	\$1.000	\$75,000.00	
1		FANN CONTRACTING, INC		\$0.600	\$45,000.00	-40.0%
2		FNF CONSTRUCTION, INC.		\$0.500	\$37,500.00	-50.0%
9240210	L.FT.	SAWCUT GROOVE FOR STRIPING (DIAMOND BLADE)				
Bid Rank		Department Estimate	636,554.000	\$0.300	\$190,966.20	
1		FANN CONTRACTING, INC		\$0.300	\$190,966.20	0.0%
2		FNF CONSTRUCTION, INC.		\$0.300	\$190,966.20	0.0%
9240900	L.SUM	AVOIDANCE AREA PROTECTION PLAN AND MONITORING				
Bid Rank		Department Estimate	1.000	\$10,000.000	\$10,000.00	
1		FANN CONTRACTING, INC		\$10,500.000	\$10,500.00	+5.0%
2		FNF CONSTRUCTION, INC.		\$7,500.000	\$7,500.00	-25.0%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank		Department Estimate	1.000	\$300,000.000	\$300,000.00	
1		FANN CONTRACTING, INC		\$156,000.000	\$156,000.00	-48.0%
2		FNF CONSTRUCTION, INC.		\$275,000.000	\$275,000.00	-8.3%
9280034	L.FT.	GROUND-IN RUMBLE STRIP (6 INCH)				
Bid Rank		Department Estimate	168,177.000	\$0.300	\$50,453.10	
1		FANN CONTRACTING, INC		\$0.150	\$25,226.55	-50.0%
2		FNF CONSTRUCTION, INC.		\$0.150	\$25,226.55	-50.0%
9280036	L.FT.	GROUND-IN RUMBLE STRIP (8 INCH)				
Bid Rank		Department Estimate	256,192.000	\$0.300	\$76,857.60	
1		FANN CONTRACTING, INC		\$0.150	\$38,428.80	-50.0%
2		FNF CONSTRUCTION, INC.		\$0.150	\$38,428.80	-50.0%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020009	A	CU.YD. REMOVAL OF STRUCTURAL CONCRETE				
Bid Rank		Department Estimate	58.000	\$1,000.000	\$58,000.00	
1		FANN CONTRACTING, INC		\$500.000	\$29,000.00	-50.0%
2		FNF CONSTRUCTION, INC.		\$275.000	\$15,950.00	-72.5%
2030501	A	CU.YD. STRUCTURAL EXCAVATION				
Bid Rank		Department Estimate	50.000	\$300.000	\$15,000.00	
1		FANN CONTRACTING, INC		\$175.000	\$8,750.00	-41.7%
2		FNF CONSTRUCTION, INC.		\$95.000	\$4,750.00	-68.3%
2030508	A	CU.YD. STRUCTURE BACKFILL				
Bid Rank		Department Estimate	145.000	\$350.000	\$50,750.00	
1		FANN CONTRACTING, INC		\$90.000	\$13,050.00	-74.3%
2		FNF CONSTRUCTION, INC.		\$150.000	\$21,750.00	-57.1%
6010002	A	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 3,000)				
Bid Rank		Department Estimate	96.000	\$2,000.000	\$192,000.00	
1		FANN CONTRACTING, INC		\$1,500.000	\$144,000.00	-25.0%
2		FNF CONSTRUCTION, INC.		\$1,250.000	\$120,000.00	-37.5%
6050002	A	LB. REINFORCING STEEL				
Bid Rank		Department Estimate	14,594.000	\$3.000	\$43,782.00	
1		FANN CONTRACTING, INC		\$1.750	\$25,539.50	-41.7%
2		FNF CONSTRUCTION, INC.		\$1.750	\$25,539.50	-41.7%
6050101	A	EACH PLACE DOWELS				
Bid Rank		Department Estimate	52.000	\$80.000	\$4,160.00	
1		FANN CONTRACTING, INC		\$48.000	\$2,496.00	-40.0%
2		FNF CONSTRUCTION, INC.		\$100.000	\$5,200.00	+25.0%
2020009	B	CU.YD. REMOVAL OF STRUCTURAL CONCRETE				
Bid Rank		Department Estimate	90.000	\$1,000.000	\$90,000.00	
1		FANN CONTRACTING, INC		\$425.000	\$38,250.00	-57.5%
2		FNF CONSTRUCTION, INC.		\$250.000	\$22,500.00	-75.0%
2030501	B	CU.YD. STRUCTURAL EXCAVATION				
Bid Rank		Department Estimate	45.000	\$300.000	\$13,500.00	
1		FANN CONTRACTING, INC		\$190.000	\$8,550.00	-36.7%
2		FNF CONSTRUCTION, INC.		\$95.000	\$4,275.00	-68.3%
2030508	B	CU.YD. STRUCTURE BACKFILL				
Bid Rank		Department Estimate	272.000	\$350.000	\$95,200.00	
1		FANN CONTRACTING, INC		\$105.000	\$28,560.00	-70.0%
2		FNF CONSTRUCTION, INC.		\$150.000	\$40,800.00	-57.1%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6010002	B	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 3,000)				
Bid Rank		Department Estimate	88.000	\$2,000.000	\$176,000.00	
1		FANN CONTRACTING, INC		\$1,500.000	\$132,000.00	-25.0%
2		FNF CONSTRUCTION, INC.		\$1,500.000	\$132,000.00	-25.0%
6050002	B	LB. REINFORCING STEEL				
Bid Rank		Department Estimate	9,123.000	\$3.000	\$27,369.00	
1		FANN CONTRACTING, INC		\$1.750	\$15,965.25	-41.7%
2		FNF CONSTRUCTION, INC.		\$1.750	\$15,965.25	-41.7%
6050101	B	EACH PLACE DOWELS				
Bid Rank		Department Estimate	38.000	\$80.000	\$3,040.00	
1		FANN CONTRACTING, INC		\$48.000	\$1,824.00	-40.0%
2		FNF CONSTRUCTION, INC.		\$105.000	\$3,990.00	+31.3%
2020009	C	CU.YD. REMOVAL OF STRUCTURAL CONCRETE				
Bid Rank		Department Estimate	90.000	\$1,000.000	\$90,000.00	
1		FANN CONTRACTING, INC		\$425.000	\$38,250.00	-57.5%
2		FNF CONSTRUCTION, INC.		\$250.000	\$22,500.00	-75.0%
2030501	C	CU.YD. STRUCTURAL EXCAVATION				
Bid Rank		Department Estimate	39.000	\$300.000	\$11,700.00	
1		FANN CONTRACTING, INC		\$223.240	\$8,706.36	-25.6%
2		FNF CONSTRUCTION, INC.		\$95.000	\$3,705.00	-68.3%
2030508	C	CU.YD. STRUCTURE BACKFILL				
Bid Rank		Department Estimate	272.000	\$350.000	\$95,200.00	
1		FANN CONTRACTING, INC		\$117.890	\$32,066.08	-66.3%
2		FNF CONSTRUCTION, INC.		\$150.000	\$40,800.00	-57.1%
6010002	C	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 3,000)				
Bid Rank		Department Estimate	87.000	\$2,000.000	\$174,000.00	
1		FANN CONTRACTING, INC		\$1,510.310	\$131,396.97	-24.5%
2		FNF CONSTRUCTION, INC.		\$1,500.000	\$130,500.00	-25.0%
6050002	C	LB. REINFORCING STEEL				
Bid Rank		Department Estimate	8,991.000	\$3.000	\$26,973.00	
1		FANN CONTRACTING, INC		\$1.750	\$15,734.25	-41.7%
2		FNF CONSTRUCTION, INC.		\$1.750	\$15,734.25	-41.7%
6050101	C	EACH PLACE DOWELS				
Bid Rank		Department Estimate	38.000	\$80.000	\$3,040.00	
1		FANN CONTRACTING, INC		\$48.000	\$1,824.00	-40.0%
2		FNF CONSTRUCTION, INC.		\$105.000	\$3,990.00	+31.3%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020052	D	L.FT. REMOVE (EXISTING BRIDGE CONCRETE BARRIER AND TRANSITION				
Bid Rank		Department Estimate	273.000	\$100.000	\$27,300.00	
1		FANN CONTRACTING, INC		\$175.000	\$47,775.00	+75.0%
2		FNF CONSTRUCTION, INC.		\$250.000	\$68,250.00	+150.0%
6010603	D	SQ.YD. PENETRATING DECK SEALER (METHACRYLATE)				
Bid Rank		Department Estimate	666.000	\$80.000	\$53,280.00	
1		FANN CONTRACTING, INC		\$29.000	\$19,314.00	-63.8%
2		FNF CONSTRUCTION, INC.		\$60.000	\$39,960.00	-25.0%
6011150	D	L.FT. SINGLE SLOPE BRIDGE CONCRETE BARRIER AND TRANSITION (38")				
Bid Rank		Department Estimate	273.000	\$400.000	\$109,200.00	
1		FANN CONTRACTING, INC		\$400.000	\$109,200.00	+0.0%
2		FNF CONSTRUCTION, INC.		\$225.000	\$61,425.00	-43.8%
6050012	D	LB. REINFORCING STEEL (EPOXY COATED)				
Bid Rank		Department Estimate	1,435.000	\$5.000	\$7,175.00	
1		FANN CONTRACTING, INC		\$3.250	\$4,663.75	-35.0%
2		FNF CONSTRUCTION, INC.		\$10.000	\$14,350.00	+100.0%
6050101	D	EACH PLACE DOWELS				
Bid Rank		Department Estimate	550.000	\$50.000	\$27,500.00	
1		FANN CONTRACTING, INC		\$38.000	\$20,900.00	-24.0%
2		FNF CONSTRUCTION, INC.		\$70.000	\$38,500.00	+40.0%
9240117	D	SQ.FT. MISCELLANEOUS WORK (PENETRATING SEALER)				
Bid Rank		Department Estimate	1,092.000	\$12.000	\$13,104.00	
1		FANN CONTRACTING, INC		\$4.250	\$4,641.00	-64.6%
2		FNF CONSTRUCTION, INC.		\$30.000	\$32,760.00	+150.0%
2020009	E	CU.YD. REMOVAL OF STRUCTURAL CONCRETE				
Bid Rank		Department Estimate	330.000	\$500.000	\$165,000.00	
1		FANN CONTRACTING, INC		\$250.000	\$82,500.00	-50.0%
2		FNF CONSTRUCTION, INC.		\$250.000	\$82,500.00	-50.0%
2030501	E	CU.YD. STRUCTURAL EXCAVATION				
Bid Rank		Department Estimate	1,095.000	\$100.000	\$109,500.00	
1		FANN CONTRACTING, INC		\$39.500	\$43,252.50	-60.5%
2		FNF CONSTRUCTION, INC.		\$95.000	\$104,025.00	-5.0%
2030506	E	CU.YD. STRUCTURE BACKFILL				
Bid Rank		Department Estimate	190.000	\$350.000	\$66,500.00	
1		FANN CONTRACTING, INC		\$168.000	\$31,920.00	-52.0%
2		FNF CONSTRUCTION, INC.		\$160.000	\$30,400.00	-54.3%

*** Bid Tabs for Proposal Pamphlet 2024054 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6010002	E	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 3,000)				
Bid Rank		Department Estimate	42.000	\$2,000.000	\$84,000.00	
1		FANN CONTRACTING, INC		\$2,500.000	\$105,000.00	+25.0%
2		FNF CONSTRUCTION, INC.		\$1,500.000	\$63,000.00	-25.0%
6017105	E	L.FT. PRECAST REINFORCED CONCRETE BOX CULVERT				
Bid Rank		Department Estimate	420.000	\$2,100.000	\$882,000.00	
1		FANN CONTRACTING, INC		\$1,685.000	\$707,700.00	-19.8%
2		FNF CONSTRUCTION, INC.		\$1,750.000	\$735,000.00	-16.7%
6050002	E	LB. REINFORCING STEEL				
Bid Rank		Department Estimate	3,500.000	\$5.000	\$17,500.00	
1		FANN CONTRACTING, INC		\$1.750	\$6,125.00	-65.0%
2		FNF CONSTRUCTION, INC.		\$1.750	\$6,125.00	-65.0%